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7KH�IRXQGDWLRQ�RI�WKH�,QWHUQDWLRQDO�$PDWHXU�$WKOHWLF�)HGHUDWLRQ��,$$)��RFFXUUHG�LQ������EXW�LW�ZDV�
QRW�XQWLO �����WKDW�D�(XURSHDQ�&RPPLWWHH�ZDV�FUHDWHG�E\�WKH�VSRUW·V�JOREDO�JRYHUQLQJ�ERG\� ZKRVH
UHPLW�ZDV�LQLWLDOO\�OLPLWHG WR�RUJDQLVLQJ WKH�(XURSHDQ�$WKOHWLFV�&KDPSLRQVKLSV��WKH�ILUVW�RI�ZKLFK�ZHUH�
KHOG�LQ�������

$IWHU�:RUOG�:DU�,,��LW�EHFDPH�D QHFHVVLW\ WR�KROG DQQXDO�PHHWLQJV DW�ZKLFK�WKH�OHDGHUV�RI�WKH�QDWLRQDO�
IHGHUDWLRQV�LQ�(XURSH�FRXOG FR�RUGLQDWH�WKHLU�FDOHQGDUV IRU�WKH�IROORZLQJ�\HDU� ZKLFK�ZRXOG�WKHQ�EH�
SXEOLVKHG�LQ�D�ERRNOHW�ZLWK�DOO�WKH�RWKHU�PDMRU�,$$)�DQG�(XURSHDQ�FRPSHWLWLRQV��

)RU� PDQ\� \HDUV� 7KH� &DOHQGDU� &RQIHUHQFH� ZRXOG� EH� KHOG� LQ� FRQMXQFWLRQV� ZLWK PHHWLQJV RI� WKH�
(XURSHDQ�&RPPLWWHH�RI�WKH�,$$)��

$W�WKH�,$$)�%XGDSHVW�&RQJUHVV�LQ������ LW�ZDV GHFLGHG�WKDW�VXEVHTXHQWO\ WKH�(XURSHDQ�&RPPLWWHH�
RI�WKH�,$$)�ZRXOG�EH�HOHFWHG�E\�WKH�(XURSHDQ�)HGHUDWLRQV�DORQH DQG�VR�EHJDQ�WKH�SURFHVV�WRZDUGV�
WKH� IRUPDWLRQ�RI� WKH� (XURSHDQ�$WKOHWLF�$VVRFLDWLRQ LQ������DQG� WKH� UHFRJQLWLRQ�DW� WKH ����� ,$$)�
&RQJUHVV�LQ�6WRFNKROP RI�DQ LQGHSHQGHQW (XURSHDQ�RUJDQLVDWLRQ�

)URP� ����� XQWLO� ����� WKH� &DOHQGDU� &RQIHUHQFH� ZDV LQFRUSRUDWHG� LQWR� WKH� &RQJUHVVHV� RI� WKH�
(XURSHDQ�$WKOHWLF�$VVRFLDWLRQ�RU�ZHUH�KHOG�DV�VHSDUDWH�HYHQWV� LQ�WKRVH�\HDUV�ZKHUH�QR�&RQJUHVV�
ZDV�KHOG�� ,Q�FRQMXQFWLRQ�ZLWK�WKH�&DOHQGDU�&RQIHUHQFHV� WKHUH�ZHUH�DOZD\V�DOVR�PHHWLQJV�RI�WKH�
(XURSHDQ�$WKOHWLFV�&RXQFLO�DQG�RWKHU�ERGLHV��

7KH� WUDGLWLRQDO� GDWH� RI� WKH� FRQIHUHQFH� KDV JHQHUDOO\� EHHQ� LQ� 2FWREHU� RU� 1RYHPEHU�� DIWHU� WKH�
VXPPHU�FRPSHWLWLRQ�VHDVRQ�KDV�HQGHG��,Q������ WKH�&RQJUHVV�DQG�WKH�&DOHQGDU�&RQIHUHQFH�ZHUH
KHOG�VHSDUDWHO\� IRU� WKH�ILUVW� WLPH�� WKH� ODWWHU� LQ�FRQMXQFWLRQ�ZLWK�D�ZRUNVKRS�RI�0HPEHU�)HGHUDWLRQ�
UHSUHVHQWDWLYHV�DQG PHHWLQJV�RI�RWKHU�RUJDQLVDWLRQV��

&RPSDUHG� WR� ����� ZKHQ� RQO\� DERXW� ���� GHOHJDWHV� UHSUHVHQWLQJ� PDLQO\� QDWLRQDO� IHGHUDWLRQV�
DWWHQGHG�WKH�&DOHQGDU�&RQIHUHQFH� QRZDGD\V�LW�LV�XVXDO�VHH�PRUH�WKDQ�����SDUWLFLSDQWV�

,Q� DGGLWLRQ� WR� PHPEHUV� RI� WKH� (XURSHDQ� $WKOHWLFV� &RXQFLO�� UHSUHVHQWDWLYHV� RI� WKH� 0HPEHU
)HGHUDWLRQV DQG� RWKHU� PHPEHUV� RI� WKH� (XURSHDQ� $WKOHWLFV� DQG� ,$$)� IDPLOLHV�� WDNLQJ� SDUW� LQ� WKH
&DOHQGDU�&RQIHUHQFHV�DUH ,$$) DQG�(XURSHDQ�$WKOHWLFV�FRPSHWLWLRQ RUJDQLVHUV��QDWLRQDO�PHHWLQJ�
RUJDQLVHUV��DWKOHWH� UHSUHVHQWDWLYHV��FRPPHUFLDO� UHSUHVHQWDWLYHV DQG�VWDNHKROGHUV�� WKH�PHGLD�DQG�
UHSUHVHQWDWLYHV�RI�RWKHU�LQWHUQDWLRQDO�DWKOHWLFV�RUJDQLVDWLRQV��

,Q������� (XURSHDQ�$WKOHWLFV� WRRN� WKH�GHFLVLRQ� WR� UHVKDSH� WKH�&DOHQGDU�&RQIHUHQFHV LQWR�D�PRUH�
FRKHUHQW�IRUPDW�DQG VR�WKH�(XURSHDQ�$WKOHWLFV�&RQYHQWLRQ ZDV�FUHDWHG�ZLWK�WKH�DLP�RI�SURYLGLQJ�
PRUH�FUHGLELOLW\�DQG�DGGHG�YDOXHV�IRU�DOO�VWDNHKROGHUV��

7KH�&RQYHQWLRQ�QRZ�SURYLGHV�PRUH FRQWHQW DQGPRUH�VXEVWDQFH�IRU�WKH�(XURSHDQ�$WKOHWLFV�0HPEHU�
)HGHUDWLRQV�DQG�RIIHUV DGGLWLRQDO�RSSRUWXQLWLHV�IRU�ZRUNVKRSV��HGXFDWLRQ��QHWZRUNLQJ�DQG�VRFLDOLVLQJ�
DSDUW�RI�WKH�XVXDO�FDOHQGDU�UHODWHG�DFWLYLWLHV��

7KH�&RQYHQWLRQ�QRZ RIIHUV D�EHWWHU�SODWIRUP�IRU�WKH�PHGLD�DQG�VSRQVRUV��HVSHFLDOO\�DV�LW�LV�QRZ�KHOG�
LQ�FRQMXQFWLRQ�ZLWK�WKH�*ROGHQ�7UDFNV�$ZDUGV��ZKLFK�KRQRXU�WKH�PDOH DQG�IHPDOH�(XURSHDQ�$WKOHWH�
RI�WKH�<HDU�DQG�ZKLFK�ZHUH�LQWURGXFHG�LQ �������
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